

$$\alpha^2 - \alpha + 2 = 0 \quad \alpha \cdot \beta = 2 \rightarrow \alpha = \frac{2}{\beta} \quad \left. \begin{array}{l} \alpha + \beta = 5 \end{array} \right\} \textcircled{1}$$

$$\frac{f\alpha + \beta^5}{\alpha\beta^2} = \frac{f\alpha}{\alpha\beta^2} + \frac{\beta^5}{\alpha\beta^2} = \frac{f \times \frac{2}{\beta}}{\alpha\beta^2} + \frac{\beta^3}{\alpha}$$

$$= \frac{1}{\alpha\beta^2} + \frac{\beta^3}{\alpha} = \frac{1}{\alpha} \left( \frac{1}{\beta^2} + \beta^3 \right) = \frac{1}{\alpha} (\alpha^3 + \beta^3)$$

$$= \frac{1}{\alpha} ((\alpha + \beta)^3 - 3\alpha\beta(\alpha + \beta)) = \frac{1}{\alpha} (5^3 - 3 \times 2 \times 5) = \frac{1}{\alpha} \times 10 = 10 \textcircled{19}$$

$$y = ax^2 + bx + c \textcircled{2}$$

$$\begin{array}{l} (3, -4) \rightarrow -4 = 9a + 3b + c \\ (-1, 5) \rightarrow -4 = 1a - 1b + c \end{array} \rightarrow \begin{array}{l} 9a + 3b + c = -4 \\ a - b + c = -4 \end{array}$$

$$\rightarrow 8a + 4b = 0 \rightarrow \frac{2}{1}a = -\frac{1}{4}b \rightarrow \frac{2}{1}a = -\frac{1}{4}b$$

$$\rightarrow 2a = -\frac{1}{4}b \rightarrow -b = \frac{8}{1}a$$

$$\text{نمی چسبند: } -\frac{b}{a} = \frac{8}{1}a = \boxed{\frac{8}{1}}$$

$$\frac{\sqrt{\Delta}}{|a|} = \frac{f}{r}k \rightarrow \frac{\sqrt{4k^2 - 4}}{1} = \frac{f}{r}k \textcircled{3}$$

$$\rightarrow 4k^2 - 4 = \frac{16}{9}k^2 \rightarrow \frac{4}{9}k^2 = 4 \rightarrow k^2 = 9$$

$$\rightarrow k = \pm 3$$

$$\left[ \frac{k^2}{r} \right] = \left[ \frac{9}{1} \right] = \left[ \frac{f}{1} \right] = \boxed{9}$$

$$y = \alpha x^2 + b x + c$$

$$4\alpha + 3b + c = 12\alpha - 2b + c \rightarrow 1b = 19\alpha \rightarrow b = 19\alpha$$

$$\alpha + \beta \rightarrow -\frac{b}{a} = -\frac{19\alpha}{\alpha} = -19$$

$$(\alpha + \beta)^2 - 19\alpha\beta = 2 \rightarrow 1 - 19\alpha\beta = 2$$

$$\rightarrow -19\alpha\beta = 1 \rightarrow \alpha\beta = -\frac{1}{19} = \frac{c}{a}$$

$$\rightarrow c = -\frac{1}{19} a$$

$$-\frac{1}{19a} = 1 \rightarrow 19ac - b^2 = 19a \quad 19a$$

$$19a \left(-\frac{1}{19} a\right) - (19a)^2 = 19a \rightarrow -19a^2 - 361a^2 = 19a$$

$$\rightarrow -380a^2 = 19a \rightarrow -19a = 1 \rightarrow a = -\frac{1}{19}$$

$$b = -1$$

$$c = \frac{1}{19}$$

$$\Delta = -2 \pm \sqrt{2^2 + 4m} < 9$$

$$\rightarrow 2 + \sqrt{2^2 + 4m} < 9 \rightarrow \sqrt{2^2 + 4m} < 7$$

$$2^2 + 4m < 49 \rightarrow 4m < 45 \rightarrow m < \frac{45}{4}$$

$$\Delta > 0 \rightarrow 2^2 + 4m > 0 \rightarrow 4m > -4 \rightarrow m > -1$$

$$-1 < m < \frac{45}{4}$$

$$[-1, \frac{45}{4}] \cap \mathbb{R}$$

$$\frac{-1}{r_a} = r \rightarrow r_a c - b^r = 1a \rightarrow r(d_m^r - m) - 1ff = 1m \quad \text{S}$$

$$r_a m^r - 1r_m - 1ff = 0 \rightarrow r = \sqrt{1ff - r(-111)}$$

$$\frac{-b}{r_a} = \frac{1r}{r} = r$$

منقول

$$\alpha^r = \alpha \beta \rightarrow \alpha^r = \frac{c}{a} \Rightarrow \alpha^r = \frac{r_a - 1}{1} \quad \text{V}$$

$$\rightarrow \alpha^r - r_a + 1 = 0 \rightarrow (\alpha - 1)^r \rightarrow a = 1$$

$$x^r = t \rightarrow t^r - Vt - \Delta = 0 \quad \text{A}$$

$$\rightarrow t = \frac{V \pm \sqrt{V^2 + 4\Delta}}{2} \quad x^r > 0 \rightarrow x^r = \frac{V + \sqrt{V^2 + 4\Delta}}{2}$$

$$\rightarrow x = \pm \sqrt{\frac{V + \sqrt{V^2 + 4\Delta}}{2}} \rightarrow S = 0 \quad P = -\frac{V + \sqrt{V^2 + 4\Delta}}{2}$$

$$r_p^r + r_{sp} + r_s = \Delta q + V\sqrt{4q}$$

$$\text{ex} t / \frac{-b}{r_a} = \frac{r}{r_k} \quad \text{A}$$

$$\frac{-1}{r_a} = \frac{-rk - r}{k} \rightarrow \frac{-rk - r}{r} = -1$$

$$\frac{-rk - r}{k} = -r \times \frac{r}{r_k} - r \rightarrow -rk - r = -1 - rk$$

$$\rightarrow r = rk \rightarrow k = r \quad \text{A}$$

$$-m x^r + m x + 1 = -m - x$$

(12)

$$-m x^r + m x + x + m + 1 = 0$$

$$-m x^r + (m+1)x + m+1 = 0$$

$$\Delta < 0 \rightarrow m^r + 4m+1 - 4(-m^r - m) < 0$$

$$\rightarrow m^r + 4m+1 + 4m^r + 4m < 0$$

$$\rightarrow \Delta m^r + 4m+1 < 0 \rightarrow m^r + 4m+1 < 0$$

$$\rightarrow (m+1)(m+1) < 0 \rightarrow m = -1$$

$$-1 < 0 \rightarrow -1 < 0$$

مطلوب